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An Example from AMO (with a small change)
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Find Min Bucket
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Update
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Find Min Bucket
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If the bucket has 

width 1 or a single 

element then select 

a node of the 

bucket.
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Find Min Bucket

0 1 2-3 4-7 8-15 16-31 32-63

1

2 4

53

6

13

5

2

8

15

20

9

0

2

4
5

6

1

0

∞ ∞

∞

∞

13 15

200 9

9 10 11-12 13-15

Find Min Non-Empty 

Bucket
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width 1 or a single 

element then select a 
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Else, redistribute the 

range of the bucket.
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Find Min Bucket
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Find Min Non-Empty 

Bucket

If the bucket has 

width 1 or a single 

element then select a 

node of the bucket.  

Else, redistribute the 

range of the bucket.
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width 1 or a single 

element then select a 

node of the bucket.  
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Termination
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